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3 %f”ﬁb,j rER rEMm B 8RR ET SEE REY RE — BERRRRE V- Ge H25.1.17 | H25.1.18 124 21.9 34
4 %f‘ffp,j BER (L IBFEF SERE REY RE — BERRERE LV S— Ge H25.1.17 | H25.1.18 <52 5.95 6.0
5 %fﬁb,j rER we™ =R Lol SEE REY RE — BERRRRE V- Ge H25.1.17 | H25.1.18 107 180 29
6 %f‘ffp,j BER = RYET IBATE SERE R REY A= — BEERRERGE 5 Ge H25.1.9 | H25.1.18 <36 <31 <6.7
7 %fﬁb,j EBR T RRET IBEAH FERBR REY = — BERRREEEVS— Ge H2519 | H25.1.18 <48 <40 <88
8 %f‘ffp,j BER = RYET IBEARF SERE R REY A= — BEERRERGE S Ge H25.1.9 | H25.1.18 <55 <387 <92
9 %fﬁb,j EBR T RRET IBEAH FERBER REY = — BERRREEEVS— Ge H2519 | H25.1.18 <43 <39 <82
10 %f‘ffp,j BER = RRET IBEARF SERE R REY A= — BEEREERGE 5 Ge H25.1.9 | H25.1.18 <55 <47 <10
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14 %f‘gﬁp,j BER (L [=EEt= 1 SERER REY MR — EEREERGES— Ge H25.1.17 | H25.1.18 <52 6.01 6.0
15 %fﬁbd rER reMm B 8RR ET SETE REY hE — BERERRRE V- Ge H25.1.17 | H25.1.18 <50 9.10 9.1
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